TEXAS A&M UNIVERSITY

_ Mathematics

Math 140 - Spring 2024
WEEK IN REVIEW §7 - MAR. 18, 2024

REVIEW OF ALGEBRA

¢ Simplifying Fractions

e Order of Operations

e Multiplying Expressions
o I

actoring

Pr 1. Compute each of the following and simplify completely.
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Pr 2. Compute each of the following and simplify completely.
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Pr 4. Simplify each of the following.
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Pr 5. Factor each of the following.
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SECTION 5.1 PART A: WRITING INTERVAL NOTATION
—

Set-builder notation ( « o ?d\ P,J‘u\'(’kg Se§
Interval notation
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e Verbal description

Pr 1. Express cach of the following using equivalent interval notation and then give a verbal description for
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Pr 4. Use the graph of g(z) below to answer each of the following.
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Pr 5. Suppose that we let C'(x) represent the total cost of making x fidget spinners.
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Pr 6. Use the function f(z) =3 — 2z to compute and expand and simplify each of the following.
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Pr 7. Use the function g(z) = 42 — 32 to compute and expand and simplify each of the following.
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